



Tên: _____

Ngày tháng: _____ Điểm: _____

$$(-5)^0 - (-5) =$$

$$(-2)^{(-1)} + 10 =$$

$$(-1)^{(-2)} - (-4) =$$

$$8^{(-2)} + (-8) =$$

$$6^2 + 9 =$$

$$2^0 + (-2) =$$

$$(-10)^{(-2)} + 9 =$$

$$9^{(-1)} + (-7) =$$

$$4^{(-1)} + (-3) =$$

$$(-9)^{(-2)} + 5 =$$

$$9^2 - 8 =$$

$$(-8)^{(-2)} - 7 =$$

$$4^{(-1)} + (-5) =$$

$$9^0 - 5 =$$

$$(-3)^0 - 7 =$$

$$8^{(-1)} + 9 =$$

$$(-8)^2 - 7 =$$

$$(-1)^{(-2)} - 3 =$$

$$9^2 + 2 =$$

$$(-6) + (-8) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$(-5)^0 - (-5) = 6$$

$$(-2)^{(-1)} + 10 = \frac{19}{2} = 9\frac{1}{2}$$

$$(-1)^{(-2)} - (-4) = 5$$

$$8^{(-2)} + (-8) = \left(-\frac{511}{64}\right) = \left(-7\frac{63}{64}\right)$$

$$6^2 + 9 = 45$$

$$2^0 + (-2) = (-1)$$

$$(-10)^{(-2)} + 9 = \frac{901}{100} = 9\frac{1}{100}$$

$$9^{(-1)} + (-7) = \left(-\frac{62}{9}\right) = \left(-6\frac{8}{9}\right)$$

$$4^{(-1)} + (-3) = \left(-\frac{11}{4}\right) = \left(-2\frac{3}{4}\right)$$

$$(-9)^{(-2)} + 5 = \frac{406}{81} = 5\frac{1}{81}$$

$$9^2 - 8 = 73$$

$$(-8)^{(-2)} - 7 = \left(-\frac{447}{64}\right) = \left(-6\frac{63}{64}\right)$$

$$4^{(-1)} + (-5) = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$9^0 - 5 = (-4)$$

$$(-3)^0 - 7 = (-6)$$

$$8^{(-1)} + 9 = \frac{73}{8} = 9\frac{1}{8}$$

$$(-8)^2 - 7 = 57$$

$$(-1)^{(-2)} - 3 = (-2)$$

$$9^2 + 2 = 83$$

$$(-6) + (-8) = (-14)$$